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1. (1) Give the four items of Factory Overhead.
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(ii1) Explain FIFO Method.

o c
|

JIH  AMHA g9 THEA (

Time : 1% Hours | [ Maximum Marks : 80

Note .— The question paper is divided into two Sections
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A and B. Write answers as per the given

. . THAT |
instructions.
e - 77 yE-w e oiR W D wmvel # et §1 e (tv) What is Idle Time 7
TUe % FRUMEN TR % S S FEEH T T ?
Section—-A 4x4=16 (v) Explain about Machine Hour Rate.
(Very Short Answer Type Questions) HEI HUeT T hl S|
Note .— Answer any four questions. As per the nature of (vi) Cost of goods sold is ¥ 12,000. Rate of Profit
the question delimit your answer in one word, one 20% on sales. Calculate the value of sales.
sentence or maximum up to 30 words. Each T &t feenl 9ra @ 12,000 B fswRl W
question carries 4 marks. 20% H A ¥ 1 fosRa g st Mo wifs
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(vii) Discuss about Tender Price. 3. In a factory component A used weekly, as follows :

U gem H AR H ) Normal Usages 150 Units
(viii) What is Work Uncertified ? Maximum Usage 225 Units
SR S Minimum Usage 75 Units
Re-order Quantity 1,200 Units

Section-B 4x16=64
Re-order Period 4 to 6 Weeks

(Short Answer Type Questions)
Calculate the following :

Note — Answer an uestions. Each answer should not
ore y Jour q (1) Re-order Level

exceed 200 words. Each question carries 16 marks. . _
(i1)) Maximum Sotck Level

wrs— (iii) Minimum Stock Level
(e1g I ) (iv) Average Stock Level
fader - fordl W wedl & SW ST e e SWow TF TR H A THER F GOEN ToE 9@ T TER
Afesrad 200 vea1 # IREHA FISCI T&F T LRI |1 I
16 71 &1 1 =T S 150 sereat
2. What is meant by Cost Accounting ? Give the SAfeeRad 3TN 225 sahTEAr
objects and advantages of cost accounting. AT 3TN 75 sRIEAl
AT @i § 9 1 THed € 2 N @i & A SR AT 1,200 shTeal
T TF Y FqET | TA: 3RV 31afy 49 6 9aE
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4. Calculate the works cost of the job under : (1) ASGh 1 FE H A I @ 150%
(1) Time Rate System 5. Give short notes on the following ;
(ii)) Piece Rate System (i) Waste
(iii) Rowan System
(iv) Halsey System (50%)
(@) Standard Time of the Job 9 Hours
(b) Actual Time of Completion 6 Hours

(ii) Scrap
(ii1) Overtime Wages
(iv) Under Absorption

(c) Wages Rate % 3 per hour frfafen = wfaa feoforr G

(d) Material Cost of the Job of T 32 (1 &=

(e) Works overhead recovered @ 150% of wages. (i) oTas

;;:::Tuq gaell ¥ SURE Hl HREE AR FA (i) sTferger o

() W Tk (tv) =R

(i) »H@ W TGk 6. Give detailed notes on the following :
(iii) T gome (1) Calculation of work-in-progress
(iv) =™ gomet (50%) (i1) Calculation of Finished Goods
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7. What is Operating Cost ? Explain the objectives T T 2 1.00 ¥f1 freh

of operating cost.

=T a1 € ? 39S Sedl i Soaisu | e w 2,80,000 fee
8. Explain the needs of reconciliation of Cost EUSIEE %0.90 wfa fepet

Accounts and Financial Accounts. TOMT HITST

AN @l Te faxig ol & THIME Sl SAeegehal o () R ST

Iedt ¥ 7 W |
9. A manufacturing concern who has adopted OB S

standard costing furnishes the following (iif) @Rl ST feeo

information :

Standard Quantity 3,00,000 kg

Standard Rate T 1.00 per kg

Actual Quantity 2,80,000 kg

Actual Rate % 0.90 per kg

Calculate :

(i) Material Usage Variance
(i1)) Material Price Variance

(i11) Material Cost Variance
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